4 F—TL—rDEEEFHE
BT T—5

ti 73451

Sample_7



1.1

G.L.

-4.000 m




1
1.1 G.L. -4.000 m
(¢H)
G.L. -4.000 m Ph 45.00 kN/m?
G.L. -4.000 m Ph 45.00 kN/m?
qI=10. 000 -
Ph 45. 0(
G.L.  0.000(m) G.L.  0.000(m)
G.L. -4.000(m)
@
A B C
" |
A
1 ¢ 5=2. 421
[=5. 404

FORUMS8




1
MA=— (=2k™+2k+1) Ph - 1/
24
1
=§ X (=2X0. 448*+2X0. 448+1)Ph « 5. 404’=1. 819 « Ph (kN. m/m)
1
MB=—— (k*—k+1)Ph - 1.7
12
1
2—5 X (0. 448" —0. 448+1)Ph + 5. 404’=—1. 832 « Ph (kN. m/m)
1
MC=— (k*+2k —2) Ph - 1.}
24

1
=§ X (0. 448+2X 0. 448—2)Ph « 5. 404’=—1. 099 « Ph (kN. m/m)

k=S/L
2.421
= =0. 448
5. 404
(A-B) il ¥ & T8 (B=C) [l Dl /5
NBA=—Ph - $
2

1
25 XPhX2,421=1.210 « Ph (kN/m)
1
NBC=—Ph + L
2

1
:ExPhX54@FZ7%-Ph(HVW

(€)
t 2.7 (mm)
AL 39.76 (cm*/m)
ZL 46.00 (cm®/m)
IL  141.00 (cm*/m)
ola 180.00 (N/mm?)
H H 200x 200x 8x 12

AH  63.53 (cm® )
ZH 472 (cm®)
IH  4720.00 (cn*)
o Ha 180.00 (N/mm?)

FORUMS8




Q)

N=NBC=2.702x Ph
=2.702x 45.00=121.59 (kN/m)

MMax=jMB}=}-1.832% Ph]
=1.832x 45.00=82.43 (kN.m/m)
o LNa

ogla

LNa=1210—1.23(A —18) X
¢ a{ ( )} g Ha

180
={210—1.23(64.3—18) | x =131 2 (V/mn)

o HNa
o HNa=210 (N/mm?*)
oL XN N B L XMmax
ALX gIlNa ZLX ola
0. 385><121.59><103+O. 029 X 82. 43X 10°
39. 76X 10°X131.2  46. 00X 10°X 180
aHXN B HX Mmax

Al
LH
0.615X121. 59X 10° 0.971X82. 43X 10°

= + =0. 86
63. 53 X 10 472, 00X 10°
— | X210.0 |[—— | X210

=0.38 =

X o HNa

X ¢ Ha

1.0

oL

oH

ola : (N/mm?)
o LNa: (N/mm?)
o Ha : (N/mm?)

o HNa: (N/mm?)

N : (N/m)

Mmax : (N.mm/m)

AL (mm?/m)

AH (mm?)

L (mm*/m)
ZH (mm®)

LH : (m)

N=NBA=1.210x Ph
=1.210x 45.00=54.47 (kN/m)

MMax=!MB!=1-1.832x Ph!
=1.832x 45.00=82.43 (KN.m/m)

1. 00

= 1.00

OK

OK

FORUMS8




o LNa
_ 1800000 % ola
6700+ 1 ° o Ha
_ 1800000 % 180
6700+143.5* 210

o LNa

=56.5 (N/mm?)

o HNa
o HNa=210—1. 23 (1 —18)

=210—1.23(31.3—18)=193. 6 (N/mm®)
aLXN . B L XMmax

Y TALX olNa  ZLX ola

_0.385X54, 47X 10° . 0. 029X 82. 43X 10°
©39.76X10°X56. 5 46. 00X 10°X 180
aHXN N B HX Mmax

o

=0.38 = 1.00 OK

X ¢ HNa

X ¢ Ha
LH

3 0.615X121. 59X 10° . 0.971X82. 43X 10° 0. 83
63. 53 X 10* 472, 00X 10° '
—— | X193.6 |— | X210

A

1. 00 OK

1.0

oL

oH

o la : (N/mm?)
o LNa: (N/mm?)
o Ha : (N/mm?)

o HNa: (N/mm?)

N : (N/m)

Mmax : (N.mm/m)

AL (mm?/m)

AH (mm?)

L (mm®/m)
ZH (mm®)

LH : (m)

o L=AL/ (AL+AH/LH)
=39.76/(39.76+63.53/1.0)=0.385

o H=(AH/LH)/ (AL+AH/LH)
=(63.53/1.0)/(39.76+63.53/1.0)=0.615

B L=IL/(IL+IH/LH)
=141.00/(141.00+4720.00/1.0)=0.029

B H=(IH/LH)/ (IL+1H/LH)
=(4720.00/1.0)/(141.00+4720.00/1.0)=0.971

FORUMS8



BH'MmaX'L2+ 5+Ph-L*
I I
8+E+— 384 +E -+ —
LH LH

0. 971 X 82. 430X 10° X 5404 N 5X 45, 00X 107X 5404

6 =

4720.00X 10" 4720. 00X 10

8X 2, 00X 10°X ————— 384X 2,00X10°X
1000 1000

=21.98 & a =27.02 (nm)  OK

5=2. 421

L=5. 404

(A-B)
X1=0.795 (n) X2=4.609 (m)

n1=(X1-33)/157=(795 33)/157=4.853
n2=(X2-33)/157=(4609 33)/157=29.147
n1=5.0 n2=29.0
X1"=(nlx 157)+33=(5.0x 157)+33=818 (mm)
X2"=(n2x 157)+33=(29.0x 157)+33=4586 (mm)
(8-C0)
X=2.421/2=1.210 (m)

FORUMS8



i)

(A-B)
aH+NBA BH- |MT|
QtB= +

H
0.615X54. 472 0.971X 1. 975

+
2 0. 200

=26. 34 (kN)

QtB: (kN)

o H:

B H:

NBA: (kN)

H : (m
MT -X"=0.818m

Ph-L _, Ph _,,
cX—?cX

MT=MB+

45.00X5. 404 45.00
=—82. 43+f X0.818—

X 0. 818

=1.975 (kN. m/m)

(B-0)
aH+NBC BH-+ |MT|
QtB= +

2 H
__O.615><121.590_+O.971><49.461

2 0. 200

=277.52 (kN)

QtB: (kN)

o H:

B H:

NBA: kN)

H : (m
MT -X"=0.818m

PheS ., Ph _,,
-X—7-X

MT=MB+

45.00X2. 421 45.00

=—82. 43+f><1'210_ X 1. 210

=—49. 461 (kN. m/m)

(A-B)
QtB
6 X Ab
26, 34X 10°
T 6X245
=18 T ab =300 (N/mm?) 0K

T b=

FORUMS8



(B-0O
tB
b= g
6 X Ab
_277.52X 10°
6 X245

=189 T ab =300 (N/mm?) 0K

iii)
PL-12 AP
AP=2x (B 2x 25) t
=2x (200 2x 25)x 12=3600 (mm?)
ZP
(B-2x25) « t*

H t
+(B—2X25) +t s |—+—
12 2 2

Zp=2X

H
2

(200-2x25) + 12° 200
o +(200—2X25) « 12+ (7+

=2X

12y’
2

200
—+12
2

(B-A)
ol +NBA BH- | M|
AP 7P
H H
_0.615X54. 472X 10° 0.971 - 1. 98X 10"
3600 361542. 9

1.0 1.0
=15 o Ha =210 (N/mm?) 0K

o P=

o P: (N/mm? )
o H:

B H:

AP : (mm?®)
ZP :

Mo (N.mm/m)
LH : (m)

=361542.9 (mm")

FORUMS8



(B-0)
aH*NBC BH-+ |M|
or= +
AP 7P
LH LH
_0.615X121. 590X 10° . 0.971 + 49. 46X 10°
3600 361642. 9
1.0 1.0

=154 o Ha =210 (N/mm?*) 0K

o P: (N/mm? )
o H:

B H:

AP : (mm?®)
ZP :

Mo (N.mm/m)
LH : (m)

FORUMS8
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